[

BK-12130A

-

BK-10101A

5 B

1. (€& EEBYT]EEFT -
2. ERETHASE - AR5 -
3. RIIEE  RIF[FEBEEES EWHE -
4. B - AERYRE - BILETIFMBAI -

5. BARSESIRABIRIGE - HENREN
HERR  TFBMEZ2REMT.. F5S -

BK-10249A

5 I
A = ‘ﬁ.ﬁll:lfﬂ ﬁﬂﬁﬂ‘&kﬁmﬁﬂ BATS
mm cm? kgf/cm? kg

BK-10101A 20 3.14 10 50
BK-12050A 30 7.07 10 91
BK-12130A 30 7.07 10 227
BK-12132A 30 7.07 10 227
BK-12265A 40 12.56 10 340
BK-12275A 40 12.56 10 340
BK-10247A 80 19.62 10 450
BK-10249A 50 19.62 10 450
BK-36301A 20 3.14 10 45
BK-36003A 30 7.07 10 272
BK-36330A 40 12.56 10 1136
BK-305EA 30 7.07 10 386
BK-702CA 30 7.07 10 200
BK-702DA 40 12.56 10 500

BK-10101A 168.5 40.7 24 10-24X1-3/8| 17.5 23.8 15.9 3.2 36.7 | PT1/8”
BK-12050A 185 85.7 35 |1/4-20X1-3/4 27 27 12.7 5.2 48.4 | PT1/8"
BK-12130A 236.5 75.4 68 |5/16-18X2-1/2| 33.8 32 19 7.1 52.4 | PT1/8”
BK-12132A 260 75.3 88  |516-18X2-1/2] 34.2 32 19 7.1 52.4 | PT1/8"
BK-12265A 392 83.7 88.2 |3/8-16X3-1/2] 44.2 45.2 31.8 8.3 73 PT1/8"
BK-12275A 302 83.7 88.2 |3/8-16X3-1/2] 44.2 45.2 31.8 8.3 73 PT1/8”
BK-10247A 407 110 [114.8 | 1/2-13X3 | 55.3 45.2 31.8 8.3 86.1 PT1/8”
BK-10249A 407 110 | 114.8 | 1/2-13X3 | 55.3 45,2 31.8 8.3 86.1 PT1/8”

® BK-10247A 37331 (UR2) B + BK-10249ARES, (F4R) BFE -

3 30.01



SERYE

1N

X
o

La@@ﬁ

| — [
L__ { %
33 Bl
| Eerer el -
BK-36330A R
T T T T I
- P —

2 |P|A|D E | F |6 |H|h]|J|K]|]L|M|R |mEssE
BK-36301A |187| 40 |32.2 | M4X0.7X20 | 13.6 |15.9 [159| - |#8| 34 | 12 | 6.4 |8.3| PT1/8"
BK-36003A |o50|69.5 | 58 | M8X1.25X50 | 27.7 |33.3 |36.5| - |4.8| 61 (19,7 |[11.1 [10.7| PT1/8"
BK-36330A [347| 84 |51.5 | M10X1.5X65 | 26.6 | 41.3 | 34.9 [41.3| 8 | 74 | 30 |15.9 |12.7| PT1/8"
BK-305EA [306|77.2 | 75 | M12X1.7X65 | 34.8 | 41.3 | 41.3| - |8.7|66.7 |23.6 |15.9 | 9.5 | PT1/8"

| ﬁi < | :EW .
ol —H— &l _a il

f T I I _'\+} \-V

r L ;ﬁjﬁ:—

MNP SN

BK-702DA o

BK-702CA 260 185 103 80 27 8 58 58 12 38 PT1/8”
BK-702DA 315 315 142 110 34 | 13 81 80 14 69 PT1/8"

3 30.02



